Z:(3000) A MOMLHl 2 (3200) K| A MW H] 51 (3210) A A S A HIgt: (3211) B HZ e HIHIEE: (120) 2 AR 24| ERNELRED
i = J P! 2 5
Of &b of l @ o = p) x
X o B NIE . HIAIE = of A M| o= H o
3000 [= 252,949 & 7,405,141 X 0 2A11,597,000]
Z H oK ey 110,107,964/ 114,316,306 4,208,342 [DJ| 0 2 A269,432 1 0 ]
3200 [= 252,949 = 7,405,141 X 0 =A11,597,000]
=D DI 110,107,964 114,316,306| 4,208,342 [D| 0 2 229,432 1 0 ]
3210 [= 252,949 & 7,405,141 X 0 2A11,597,000]
2R S A 110,107,964/ 114,316,306 4,208,342 [DJ| 0 2 A269,432 1 0 ]
3211 [= 307,264 & 554,340 Xl 0 = 0]
AR =2 28,773,425 27,909,673 863,752| [2I 0 2 A17,852 1 0 ]
100
2 A0 A 265,360 252,970 12,390
120
AR AY| 265,360 252,970 12,390
201
o Bre A Y| 83,460 81,510 1,950
76,460 74,510 1,950/01 Lpred)
SXIDNE( 2 2%Hl XX = 1,950
202
o1t 86,000 79,700 6,300
68,000 61,700 6,300/01 =LH0iH|
SXXNEO M2 oHl =F = 6,300
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Z:(3000) 2 MO Hl 2+ (3200) X< HIJH L 8:(3210) A HIE A Mg (3211) Z ME 2 2rel HIAIE: (210) 2 & AL EEMEEERCE]
i = J P! 2 5
Of &b of l @ o = p) x
I 2 S MIE. NIMIE =2 O]l A oH = 3 o
202
o H 8,000 12,000 24,000
8,000 12,000 A4,000(03 =204l
SKCHUXNEHZRH i (U=2AEH)
8,000,0002 - 12,000,000 = 24,000
(2) A4,000
306
=012 2,454,000 0 2,454,000 o EHL A FMEHR| ZA(U=2FEH) = 2,454,000
(2) 1,658,000
() 796,000
308
AXISH S 1,509,822 1,438,000 71,822
ol
1,509,822 1,438,000 71,822|01 A XSHBAEEZ
cNREXNEH
(21,375,264,0009 + T113,358,0002) - 1,438,000,000&
= 50,622
(=) 97,264
(%) N46,642
ocHUXEYZR QENS(N2HEE)
600,000 x 129 = 7,200




Z:(3000) B ROHEHl  2+:(3200) KIS ZRMONLEH  8:(R1)JRSH M3t (3211) ZHE =22 HIKIBE: (210) 2 FAFS SR
ot = 5
= pJ 3| 2 5
- of & o ° n = ol =
I 2.8 B AIAIE = of &b % x= H o - = N
(=) 7,200
SOHUXESY 22 (D2HE) 10,000
(=2) 8,000
(%) 2,000
SXGNUN LB SHAAS(A=HEH) 4,000
(2) 4,000
401
NP=LEEIE 0 2,454,000,  A2,454,000
CH|
0 2,413,200)  A2,413,200(01 Al&H]
CEHYT LR M (A=HH) A2,413,200
(=) 1,630,360
(£) AT782,840
0 32,000 A32,000(02 22l
SEHLTHCLI XA (U2HH) /32,000
(=) A21,620
(%) 10,380
0 8,800 A8,800(03 Al&=CHHI
CHYAHC =4 (USHR) £8,800
(=2) 26,020




X:(3000)ZMINLHl 2+ (3200) X =& HIHLH 8:(3210) A RIS A Mg : (3211) 2 ME = 2e HIAIE: (210) 2 & AL EEMEEERCE]
i = J P! ] 5
oo oo | = @ & = ] =
I 2 S MIE. NIMIE =2 O]l &b oM = 3 o
(%) A2,780
403
XX SIS 16,103,000 15,873,000 230,000
el ™
230,000 0 230,000(02 2|2t S 0fl CHEHCH & A H
o022 DIFYX HEAHASAIY = 230,000
(=) 230,000
220 [=2 0 = 588,592 Xl 0 0]
KA AL 8,382,443 7,811,703 570,740| [ 0 2 A17,852 1 0 ]
101
ol 24H| 350,740 500,000 A 149,260
350,740 500,000 A 149,260 10 L AlAFSI QI Q!
ocRZAZAY
(£268,592,0008 + £82,148,0002) - 500,000,000
= A 149,260
() A 131,408
(2) A 17,852
207
== =T3E 230,000 200,000 30,000
230,000 200,000 30,000{01 2%H|




ZH:(3000) B RINLHl 2+ (3200) XIS MK 51 (3210) A A S A HIgt: (3211) B HZ e I HIEE: (220) X &l AL S ERNELRED
i = J P! 2 5
Of &b of l @ o = p) x
I 2ot NI MM = of A M| o= H o
oBtEAIS AL B
60,000,0002 - 30,000,000 = 30,000
307
I2t0| ™ 3,341,893 3,091,893 250,000
123,000 113,000 10,000(04 QI2+8H AR X
oHI=ZX EHRA 29 = 10,000
3,108,893 2,868,893 240,000(05 Q12+Er2
oXM2IISEHIIUS
3,060,000,0002 - 2,820,000,000& = 240,000
308
XX S HIE 1,754,440 1,554,440 200,000
ol &
1,754,440 1,554,440 200,000 (01 KXISHHBAE X2
o532 Z ALY
1,560,000,0002 - 1,500,000,000& 60,000
OXIAAMAIR 2212 Alat 80,000
AU JIYete SLHUSIIAIYM 22
30,000
SOIBRIAR 24|12 QIHEIE XS 20,000
DEOFAIYM 24|12 OHMEIS XA 30,000




Z:(3000) B HIOHEHl =2t

(3200) XIS Z HIJHEH

Mg (3211) ZME 2 22|

IEGRE)

o = pJ 3 2 =
e = & = ol ES
T2 B ME AAE = I
o™MAIISFIIUE 28 ¥ 2 F|
120,000,0008 x 50% = 60,000
403
PSR IS 2,646,000 2,406,000 240,000
X =0l
540,000 300,000 240,000(02 S| 2SOl CHSHCH & A
oS Moot = 540,000
SIYYEY JIs50 AH = A300,000
3212
IRISa2e 4,173,817 3,413,817 760,000
100
B Aol 2,076,520 1,446,120 630,400
120
AR AY| 2,076,520 1,446,120 630,400
202
L] 1,542,900 1,042,900 500,000
1,500,000 1,000,000 500,000 03 =2/ 048]
coly, ZHESEM, SURI, THOIE S AIMAY =
1,500,000,0002 - 1,000,000,000& = 500,000
301
SRS 311,000 180,600 130,400

_7_




Z:(3000) 2 HMIOHEH]  2:(3200) A1 A MIJH | &:(3210) B MIS A Mg (3212) 2 IS a2 HIAIE: (120) 3 & & ZH| 2[R EH]
ni; = p) P! 2 5
o a0 | ; " s z
a2 & NE L MAE =2 off &b oA = 4 ¢
194,000 86,000 108,000(07 S12to1=2| (4 H]|
oRHEHGFZH, ENRX &S S
194,000,000& - 86,000,000& = 108,000
114,900 92,500 22,400/08 2lel== |
o8l xH 114,900,000& - 92,500,000& = 22,400
200
AR Ol & 2,097,297 1,967,697 129,600
220
XA AN 922,297 792,697 129,600
306
== 123,600 0 123,600 | o XY =2HuUFEEeE= = = 123,600
310
=22|0| N 6,000 0 6,000
6,000 0 6,000102 = HISE2
o MNAHAXIEAXESHAE I = 6,000
3213 [= AT74,315 = 3,983,000 X 0o 0]
I K& 22 30,950,036 27,292,931 3,657,105 [D] 0 & A251,580 1 0 ]
200 [= AT74,315 = 3,983,000 X 0 0]
AL O &F 30,819, 184 27,162,079 3,657,105 [ 0 = A251,580 1) 0 ]




Z:(3000) A MOMLHl 2 (3200) K| A MW H] 51 (3210) A A S A HIgt:(3213)01 2 K2 22 HIHIEE: (210) 2 X ALY ERNELRED
i = J P! 2 5
Of &b of l @ o = p) ES
X2 st ME L HIAIE = of A M| o= H o
210 (2 A74315 & 368,500 X 0 2 0]
BEAY 22,258,264/ 21,964,079 294,185 [2 0 = 0 0 ]
306
z012 1,500,000 1,200,000 300,000 o ELAEBEHH 2
(600,000,0002 + £900,000,000&) ~ 1,200,000,000%
= 300,000
307
I2t0| ™ 720,764 795,079 AT74,315
720,764 795,079 AT4,315/05 DI2te et
S ANTBOIXRAME 29
720,764,000 - 795,079,0002! = AT74,315
2 AT4,315
403
XSRS 20,037,500 19,969,000 68,500
=20l ®
20,037,500 19,969,000 68,500/01 KXISHH K22 X
S 1=V ESS
(22,338,000,0002 + Z231,500,000%) — 2,501,000,000&
= 68,500
220 [= 0 & 3,614,500 X 0 = 0]
Xt AFE 8,560,920 5,198,000 3,362,920 [l 0 2 A251,580 1 0 ]
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Z:(3000) A MOMLHl 2 (3200) K| A MW H] 51 (3210) A A S A HIgt:(3213)01 2 K2 22 I HIEE: (220) X &l AL S 2H][o9: e
i = J P! 2 5
Of &b of l @ o = p) x
X o B NIE . HIAIE = of A M| o= H o
201
B2 o Y| 4,500 0 4,500
4,500 0 4,500(01 Lered]
CEXMAAMS AASI
150,0002 x 69! x = 4,500
307
I2t0| ™ 7,022,000 3,712,000 3,310,000
634,000 594,000 40,000/02 QI2+A AT S =
oHEAIIY ALY MUKZEESZ = 40,000
230,000 0 230,000(05 QI2t9Er2
oEAIIYSHANZ ARS
220,000,000,0002 x 0. 1% = 220,000
olf -5 - AL F OIS = 10,000
6,040,000 3,000,000 3,040,000/08 O| X2 &2
CZEADIAABINNZ OIXEH
6,000,000,0002 - 3,000,000,0002 = 3,000,000
CANTOIXR OIXEH = 40,000
403
XX SIS 824,420 776,000 48,420
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Z:(3000) 2 MO Hl 2+ (3200) X< HIJH L 8:(3210) A HIE A Mg (3213) 01 X2 22l HIAIEE: (220) Kb ALES EENESRSED
i = J P! 2 5
Of &b of l @ o = p) x
a2 & NE L MAE =2 off &b oA = 4 ¢
el ™
824,420 776,000 48,420/01 NIXI SR =28 =X
O MoK L AACHR| 23t X AHH
104,420,000 - 300,000,000 = 195,580
() 195,580
OTZAIR K|IZHAACHR] 23K XA = A56,000
(2) A56,000
ollgozaHA 300,000
SOl YR FYUER EEE
1,000,000,0002 x 30% = 300,000
3214 [=2 0 = 716,000 Xl 0 Z#A11,597,000]
DHEHAR 22| 25,718, 180 36,599,180 ~A10,881,000| [JI 0 2 0 o 0 ]
100
2 A A 134,820 140,820 6,000
120
AR A 134,820 140,820 26,000
202
o4 H 38,000 44,000 6,000
38,000 44,000 A6,000{01 2LHOHI
O XRNHN 2 HHIEH = 26,000

_11_




Z:(3000) B ROKEHI  2:(3200) X1 2 2 Xl 4 ] 8 (3210) B M S M8t (3214) D 8HAL 212 HIKIBt: (210) 8 E ALY EENEGR-E)
ot =2 o o o Dl 5 2 3| N = ) =
.2 E NS AAE =2 of  Ab oM =
200 [= 0 & 722,000 X 0 ZA11,597,000]
Abd off A 25,583,360 36,458,360| 10,875,000 [l 0 =2 0 0 ]
210 [= 0 & 22,430,000 X 0 ZA11,597,000]
EEAY 15,230,000 29,257,000| ~ 14,027,000 [JI 0 =2 0 o 0 ]
306
=43 14,872,000 27,717,000| A 12,845,000 o CIAZ YOl A KIKIMHIEf A B
(25,690,000,0008 + S485,000,000&) - 6,128,000,000&
= 47,000
CHEYD FHEMY = 37,000
() 37,000
oXYIESHAMA(CIAZY Ol RO2SAH 7S, U=2FH)
= 22,123,000
(%) 193,000
() 1,930,000
o XIS AME (RIC)HPXR (U2AN) = A3,815,000
(%) 600,000
(2) ~3,215,000
ONSXUEE RMEESIME HY(U=2ZH) = A4,945,000
(%) A 1,115,000
() 3,830,000
ONEINEE AAISHL(B=2HH) = A2,046,000
(%) ~319,000
(2) A1,727,000
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Z:(3000) 2 MO Hl 2+ (3200) X< HIJH L 8:(3210) A HIE A Mgt (3214) st ared 2he| RIMIE: (210) B XA EEMEEERCE]
i = J P! 2 5
Of &b of l @ o = p) x
I 2 S MIE. NIMIE =2 O]l &b oM = 3 o
307
0I2H0| A 68,000 1,400,000| ~A1,332,000
68,000 1,400,000| ~A1,332,000(02 QI2tAAE X
o0l = ItH ALY 34,000,0002 x 2MHA = 68,000
() 68,000
oXIGHAEHMSHRIS, H=2FH) = A1,400,000
() 400,000
() A 1,000,000
402
0I2HRH=0| 270,000 120,000 150,000
bS]
270,000 120,000 150,000(01 QI2t =28 =
CSZSNAGME HE
(120,000,000 + 150,000,000 ) - 120,000,000
= 150,000
220
KR AL 10,353,360 7,201,360 3,152,000
306
=02 4,697,000 2,470,000 2,227,000 o KIS AAA(CIAZH 0| R 2HAE, H=2AHX)
= 193,000
oXHEHAME (RIC)AMY (U2EH) = 600,000
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& :(3000) ZHMIIHEHI  2:(3200) XIS B HIJHEH & (3R10)Z =S4 MIgH: (3214) star e NIAIES: (220) KR ALY (=3[ dE]

ot = Il Y| 2 3|
Of &F ©h &k = Il =
.2 g ME AN =2 of &b o = & o
SNESXUEE RMAESFMH A (U2BH) = 1,115,000
ONENEE AAISHL(U2EH) = 319,000
307
0IZHO| & 4,556,360 3,731,360 825,000
4,376,360 3,551,360 825,000/02 QI2tAAE X
oASIH BEI|SNY LAY
1,600,000,0002 - 1,300,000,000& = 300,000
optstE Al K|
275,000,000&! - 150,000,000 = 125,000
oXASHASHSH(RIS, BSHH) = 400,000
403
XIS S 1,100,000 1,000,000 100,000
HE0l &
1,100,000 1,000,000 100,000/ 01 RFXISHHIXt=2E =
CEALSHE AlLEE 200,000,0008 x 50% = 100,000
3215
NSEMXISALR 855,405 849,205 6,200
A2
100
Z A0l A 840,405 834,205 6,200
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& :(3000) ZHMIIHEHI  2:(3200) XIS B HIJHEH & (3R10)Z =S4 Mg (215) IS SR AMEA MIAE: (120) 3 & (=3[ dE]

2t = Il 3 = 2
Of &b R A = Il =
.2 g A MAE =2 Ol &b M = &3 %
120
a8 3 353,860 347,660 6,200
201
2t 222,220 221,320 900
222,220 221,320 900(01 LEr=HH|
o XZDHE0 [HE 2Hl XF = 900
202
4 8l 25,300 23,000 2,300
25,300 23,000 2,300/01 =LH048l
o XXIHEN [HE 0Hl =&F = 2,300
204
APEHH 72,240 69,240 3,000
]
61,440 58,440 3,00002 2g=2 4|
ooty 22,920,000& - 19,920,000& = 3,000
3216
SA= X2l 19,637,101 18,251,500 1,385,601
100
a0l et 105,000 52,600 52,400
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& :(3000) ZHMIIHEHI  2:(3200) XIS B HIJHEH & (3R10)Z =S4 Mg (3216) F Xt= Xl 22l NIAIEE: (120) B & X I (=3[ dE]
ot = p, X 2 5
Of &b of l @ o = p) x
.28 HE NME = Of & o x oy o
120
ZAEAY 105,000 52,600 52,400
201
et 2| 63,000 34,400 28,600
58,900 30,300 28,600|01 LEH2 |
oZZNEO MHE 2%l £F = 28,600
202
Il 33,600 9,800 23,800
33,600 9,800 23,800(01 =LH0IHI
SZZNEO ME olH x=H = 23,800
200
AR Ofl & 19,532,101 18,198,900 1,333,201
210
EEAY 18,187,500, 17,187,500 1,000,000
403
APNIEIS 18,112,500, 17,112,500 1,000,000
X0l &
18,112,500, 17,112,500 1,000,000(01 XXl EHHI X2 =
SR L= FSREIPN=ESS
(211,750,000,0008 + £4,525,000,0002) - 15,275,000,000
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X1 (3000) 2 MM Hl 2+ (3200) K| 42 MW bl 51 (3210) A A S A HIgt: (3216) EXt R Xl 2 e I : (210) & AFQY ERNECRED
i = J P =] 5
Of &b of l @ o = p) x
X o B NIE . HIAIE = of A M| o= H o
= 1,000,000
220
Xt AFE 1,344,601 1,011,400 333,201
201
B2 o Y| 720,000 500,000 220,000
680,000 500,000 180,000(01 LBre Ay
oENRX EEZ MH = 30,000
cJlYRX =24 = 150,000
40,000 0 40,000(02 AL L HI
oZUQAJIY EXNSX AL, BXHS, CIFE S
= 40,000
308
XSRS 65,000 15,000 50,000
ol &
50,000 0 50,000/01 RXISHHMBABEZ
CIIYRXIAIM 2402 oHEE X = 50,000
403
XX SIS 221,601 158,400 63,201
=20l ®
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Z+:(3000) Z MIOHEHl  2:(3200) X1 <& HIJH 2l &:(3210) 2 M S & HI&:(3216) E XS X 22| HIAIE: (220) REAIAHS (2] [ &)
2t = p) = =] 5
o A o | = 3l At 2 o] =
.28 HE. MM =] of A& o = & 9
221,601 158,400 63,201|01 AXISHHA=2E X
oEZHEH AL AMerde| MI|2td A = 50,000
SASMAF 062 HE HARFZ (&)
6,061& x 2,178m = 13,201
A& & A 110,107,964 114,316,306 AN4,208,342
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